
DATF

| | BJEcr

xnqln]

fltl 4oo q5

Qd,o PY

J55

0= d,6

=3

Jr N O*TI lel rn xot r/1 t rf,1

= Eo

r $orl 0 mr|.
ds-

E.U RO

l,[]o X go

9oo BJR

a

ilt AB

n ++
tb, .tr.9. 6 0

tt.9s
.b-!La 55. ufi. ui t#og+ 'fiuou

q5
IQ$n = 4ooxlo

95,

3
+l

0r fltl 0lo. nej,

.lX t 3l t 3o+ rF =lo5

= 4.000 L0y)

6ofl r( 4,oN

0N v 73 X+.000 =

400 - 3b- = 360

S 4rxor4 l" A,so: { q*0

=l-[l$ = t
l_ ot llrn{qQr:ldl = '' !X ra= 4 AU ,

.s 8.t{- = 6A}6,

euarO



cul

$or)

,9(.N @

Ir

1x( E

tJvoS_

V

nl

$rf ,?l -- EF (J s

45

41,f 5:g-
=J0,56SqoU 4o ,sds.

i =V1tJ: U?'l

-+ J : 4 X|.3=q,

otr 0)/ A+ b=b+=fi

A lu6?s"cQU
-q lbl Nl

_- 9.

A+

&)

3) ll, .n. K= 8b" lg--45r

= 41.l&.
$ ilJ,y). fxt,t ltrr)

8ttlr Ir. 8,

6l =lt
6) =lbX lE'

bX6:0b

14,l 5

I
d-.F = J'50

!]6 )ln. bE!,1 nrr j i
(sia)



SUBJECT

+b

d.

*. (n+Q ) *.
nta s gb

+n+b = 3b
A.n +b =3b
&n s .90
n =15

t =4).so

15+x = ISO

4lttdlle b{oh=

}leJdfiu

ilmsfirt
Vv

A Whqa
L
xte.i

0

0

= l80o

t) -

.n

+-

ONe\l+

=

liEl?

!L
LN

).-t

I
q

=
nt
tl rl

1'
CJ

q-lq.
BJ I ohJrJ I

sn A/6? s,
gJ5,

Ho
DG

EIb XbO ^
$l.n

= 16X16 :
N

C

= l8o-9 5 =80
-oJ1

4/)
IL

ff=4

fl=

$"m
1sa'.$

v

=- &o
N .?.|.A \UNorrfr] =A* X lbXio 

=

ilrl =16 Y= +=A
3n'^

oo f
0e =qxlox4_- 3bo

=b =ll
+)

4,431 nu, Yl

4[5 + +t,

Nbp, { = lb



SUBJECT

l) il.Y|tr €!'lqxN 
=

.1'l. lls

il,61}.b

lb-

b=l$

q-
st o.

I

I

l

I

I

I

!

l

I t,. ^4Aiq Xn -'" 1ru. Ll | : = a
39 D- -----t

C+:
4

i lr
ee\

l

X eS = l,0OO

=-'l + ?

Eq

+_t
5+s 5++

+

!+g

=1, B= 5 d
-C = ltsli= j

010!J 5

q
s
$

florh, .

4::1@Fr:*f:nl

14.

_=_€*€*

..---'n ",,t



I i suBJEcr._____'

fl581946

40%

=llx>1 l-qatltuu
& {as ll'l

0-lo = 3o
30x 8'000 = t($oa
Ioo

OU ,t,40a

o 21 }va

3,0

-A,l
=)

TO U0a.l = 45
& 510 et

U

124 e.
'1 ? 1A

GN'ffi

: w-+*

1 3 /1 Rn

2: + 1

4 2 a
a'.-( I ? 4

6

- o 1/9zo

2,,|03
U r'l go

43x3= lrt-A
ld{_q s =J 1



.a do
r1 u? 3lq 1 U? u rufu ry r_rr vi rfllud

flo{'{1il?u[r'r?uryfrurvr 
ifioril'irururiu*rri'usv1fi 

s1e r,rv] q{illrrrd',rfirr6urparrrvr
1Ulirvi?r,ry

!nn 4x
5
+x0 mhil &X

5)(r 4t+
loC*xl = lox

ll

= 3lg
4{l s 5tq

x_

&rt o
bn Vecv

2.:Grfrvrur,f rr,lfi re.rfr nen-drr,r-t._-Frtn6ulersfr 
or,r

4uflnnrtto':frorltirsrrrflurxrivrr'o{nm:r8rmilfifirorfroun-r 
firfrorari.tfinr,:iErrnfrqfirflu r,z *ne

dj I a u,rLtio l n raq r1o la 'oN u bbr/r n ur [F]t'VfJUyll{ 4Bfe tNFlf

o .l

._-

Tq) &.'rn notcro"rffoufri Cfdn

5 5R
= 5Xl'l =

=rtittlrvoo

t_

L
4-s

=_dllR =

&0u,

0t0rJ 4 +

4t


